AT QTS oS by (313 5 3w

019 35 o (B3 )b g (ol (B3 )b Gawlro (K gS>
s dondo— |

oo S ams o ,Slas (izran g polais! slavs (235l 0T Bk 5l Bls a5 o3y, sl jshane o
5 (MWRR )39 Jsr @33k E5 (W) (rslis o Sl cadaislid Jse 3 50 5l s (2L
S gy 99 ool Stemlne (SigKz Cenges ol 5 o 355 n o0liial S (TWRR) 39 olos 833k &5 ()
b oad Pk slaisS 4 g 958 o0 drlins colail s so sl (MWRR ) 555 Jr 295k £ w950
35k Sk TWRR ) gi9 pley (835L 53 a8l 0ld S o Sy e cod polaidl e o 205k Sils
53> ax b lawgie job 4y o Faww a5 aes oo lid g Canl Glo San Co poe cod sl glls seles S
Oyle 4 cwloads 1laS ke s sl 205L S A 3390 e oy Codi polaiB] slaaws Co o
Oy D550 40 g 03903 b,y o Faw o Slee aillgs o ylo Saw pojb @ axg b L laS Gl o S0
colo |y colaz! o 205l (s Faws aiiS (6,5 penal (10,500 4 095 ol Cupos
3 pyme bl g 1y (1 T sl ol g 45 o 3 S sm 5155 gy (iS4l ) ten

\.\JSM 09.5 LsLQ_S)L',‘
wolbais| w203 awlxo (Jog,— Y

YW ookl 3 dlal, 5l GpLa;}\ w2 (235L Al &y

Eit - Bit _Z Cij
MWRR, = = t (")
B, +Z Cij x 2

j=1 it

‘ Money Weighted Rate of Return.

- Time Weighted Rate of Return.
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